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� ���/ 01���23� 4���� ��5  (HEO) 67 8�� 9:�;&� �
 <	= � �>	� �%�-? 
� @�A43� B
C� 
 6��	��� D�� ��� �E4��% � '�?#� F���� GH �;I� D% 6��A "G�K� " @	L

M8�#�  

N(   O�"� P: 6H��&�� �	A#� ���Q� ���R&� ����S��� �!���� ��HEO O�"�� GSO �	T� U�� V
#� �?�*&�� ����W 02 
 6��A �X�YHEOZ��S�% G�K�  6���: 6!�� ��[4� �;\ ��� ]�^ _% GSOM  

8 (  � �;I-�� � �Y	`	�� �!"�#� a� �*�-��: ��� ( _%������� � 	
� �
� � �X��� 4�K�� V
#� �?�*&�� ����W b�� 
N �;I-�� ( _%�������� � 	
� �
 <	I�� ���c � �� ����: � 6����� �X�Y �	T� d�% 67 � "G�K-��) " GH �;I� B�

Z�[�ef� �g7#� F����G�K-�� <	I�� � (M  


 (   6��A �X�Y �	T� U�� �?�*&�� ����W ��HEOZ��S�% � �;\ ]�^ _%  GH� F���� GH ]�&H� D% h�&i ��[4
 @	;��j�&� 6����� @	^ GH� ��[4#� �;k� GSOM����� B5   

2 (   O�"� P: V
#� �?�*&�� ����W ���� ��HEO �T*/� GSO_% 6X�� �� ���/ _% ,��>�  ����� ��!��I�  ����A
 O�"� P: l�;-�� $A�I� �����T%3HEO �!"��� GSO�  

�����  

1 : @�!�&A� 9R��� � �Y	`	�� ��1X-��1 U�� �?�*&�� ����W N��Q "m�n� " 6��A �2�-?HEOZ�=�;��  �;\ _% 
 6���: 6!�� ��[4�GSO�  

2 : 9R��� @�!�&A�2 ��`	�� ,�[	o�� d4��L p�e�4� ���R&� GSO 6����� �**�� Bq�� 6H��&�� r*�: HEO.  
������ 1 :����� ���	
 �3	
 ���

�� ����  ����	
 � ���
��
 ������1! 2 "��# ���$ %
�� &�
 '�(
 )*��+�
 ��!
, )�)- .
/� "1�23 "
 4�53 �HEO "��# 67 8$ "9;� ��<�7 ��= ��7 >
? @$ GSO ��A��
 � B�<�C�
 ��

D E����F 7�#(
 ���G
 H�ID J @$! KGSO.  

�� ����2 : ���	
 M�;�4 ����� M�* ��N$7 ��	
��� @$ 1 OP 3.  
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 9:0;�1  

(<����� !" ���	�
# ���� �

���� ����� ���=  
 �
�� >���� ?@��HEO ��#
A� �0B4�� � GSO  

 6TK�� t[	�1F4#� @	L 4��% � 4��� 6��A Equ&� Bq�� v��� ���*�� 0S�-w $A4 	2� � . �%#� 9��&� ��%�? �e�:�
��2� 4��x��L� 9:�;&� y�L �6TK�� 01 mP&���S��� ��&;I� F4#� ��:5�> z7�% D% (O)Z�S�% B4���� B	&��� �	T��  

F4{� 0S�	&A
� B	&��� a� �*�-��: .GSO)��23� �X�Y �	T� �`�H ���L �0S�	&A
� B	&��� � d�S�
 |.(  

 "�2�
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��	
� �
��� ������� ���� ���  
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�
�� ��� ���(OB)= km 6 378

s

  
�!"�#� $"�% �� HEO 6A�� 
 �)6*I&�� �� ( 6H�
 ��Y �	T� Bq�� }=	�� � 
� p	-�� �q2 _% 4��% � _S�T�� 6�����

 8�#� '�? B	&~ 
��\ <	=(A) r*�� 
 ���&��:� �)a� Doi �� ( ]��n� Bq�� <	I�� �q2 6H�
 �>	� �%�-? 
� 6H��&��
 $A�: �%�?"G�K-�� <	I�� ." '!"��� ��*��+�� }!!` �=� �!"�{�HEOZ�I:�;&% 8�#� �X�Y �	T� 	. '�?  GH �;I� D% 

 � �� ����: � 6����� �	T� �%�-? '�=#� 6H��&�� ���	A b�� �� _T� ��
�Q� Eq2 6g% �� �4���� 6H�
 '�?#� F����
 ���c"G�K-�� <	I�� " @	^ h�&i�"G�K-�� <	I�� "�H� a� O�"� _% . 6TK�� � 4�Kn��1 a�  ����:"G�K-�� <	I�� " �;A�	:

(s) �;A�	: �&��c a�� (e) .r���4���� ��%�-�
 � ��oQ� �I;-% � �?��: 6����� 6I&-� (P)8�#� �I;-% � ��� ,G*:�  .
) �;I�� h�� �1&% �XR�� U�� �I;-�� ��Y �D=�	�� ��(r)_%z�� _% d�L� 67 � � r

2
/2.δθ/δt�4���� @	^ '�? �&:�w 02 .(  

 �����1  @	;�� ���� � a�#� d	;�� 6g!&� OsZ�=�;�� 4��!�� ��A�A#� �S���� _% .  

 p�;I�� a� �%�I�� ��%	���� B	&�ITU-R O�"� ��K: HEOd
�? '�? ����&�� ��%	����  : 8�#� p�e�4�(AB (km)) M
 ��oQ� p�e�4�(PL (km)) Bz7��� ]�&H
� M(ε) 6��� ����W M(i) ����: � v+&% 0I�IL 5�q/ M�>4
 )���c �� ( <	I��

"G�K-��) "�� ����zPOs 6TK�� � 1� − °180  θ(.  

 a� �*�-��: ��I�IQ� 5�qK�� �
�L _? 6��*7�s� e �6!�&�� ���L#� r��� � d
�\ �!�= � �X=�+&�� U�� ��-%z�� d�&e�
 _% @�I&��� 6�����sZ
	`� #� _%� 8�#� a�  a� 8�e � _T&�� @�g�� 6�*A '�?4±��?�A  .� _T� ����Q� Eq2 �

 �!�= N��Lθ �� �2���R&� ��-%W ��	;� d�7�k� 9��^ _? ,�	A 9��^ _?6%�T&�� 4�*&?�:  �� r
2
/2.δθ/δt v� ��&:�w 02 

Z��*�� �I�% _�4���� �7 �� . p�;I�� ��A�4
 �	���ITU-R d
�? $S��� _% �������L  a� �*�-��: 0I�IQ� 5�qK�� �s 
 ��(e ����z�� �� θ �R[�� �e�: �u�-�� �� 
� M�-2 F�&e� �% 	2� ������&T�3� �����: @��> _% EXCEL Eq� �IY��� 
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 |%���: '�? B	&� ��`	&��Visual Basic �!�I�� ���R&: t!�� θZ�=�;��  �2�-? ��*� U�� 8�#� 9*�� U�� �"R��� _% 
6����� s)  6����� �2�-? ��*� U�� 8�#� ��: �% �"Q ��e.(  

 r>	x ��	�
���� �
���
� r&T% a� �X��I� P�&� U�� ��%	���� �� a� d4�/3� 4��6��q&�� 4 � 67 �-? 	�
���� tS�	�
_? ���*��oQ� p�e�4�� �8�#� p�e�4� '�? B	&� F4#� a� �*�-��: d�I&�% v� �����A �!"��  �Bz7��� ]�&H
�� �

 <	I�� 
��L �� v�"G�K-�� " F4#� a� �*�-��: d�I&��� v� �!"�#�: ����� ��5 ����Q�(non-GSO) h-��� _% HEO 
�X��I� P�&� U�� ���;��� �!S�= _![ 
�� 
 .�� ��:�*�-��: � � F4#� a� �*�-��: d�I&��� v� �!"�{)Z��-![ j�5 � �x 

�!"�#� (HEO 
��L �X��? 9*;-� U�� ��=�;-�� � ���!�&A
 G;un� U�� epfd d
��� � �X��� 4�K�� 22	�
���� tS�	� _%  �
 ���Y 6��q&�� r>	x �X��I� P�&� U�� ��!���� P: _%4 � F4#� t;A l	Y V
#� p�e�4
� 02 	�
���� tS�	� _T� Bq��

� 6��A B#O�"-�� ��Y @�A43� . O�"-�� a� �*�-��:� HEO D% p�e�4
� �q2 9:�;&� �sC 6TK�� � 1.  

Z�
�-&A�� 6TK�� a� 1��2� ��
��% @�!�&A�:� ��	&��� ��g�g% $�?� |B a� �*�-��: ��?�:4 ��
��% '�? 6�. �x �X-? ��� 
 �;A�	:AB �PL �ε� θ a� �*�-��: ��
���� Eq2 qS�-? 6.� Mx _T�� ���� @	;�� OsZ�=�;��  y�g�� _% Oms.  

 "�2�
2  
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 �����2:���g�� d	;�� 6g!&�  F���� GH 
��� � �s ���� 8�#� @	^ GH a� �*�-��: @	;�� GH� � O��I�� _T�j�q: 
 6TK�� @�!�&A�:3� 6T/ � 4���� 6g� Bq�� 6TK�� � 6!�&�� U�� W	%��� �e� @�!�&A�: 
��:#� 0w�w 1 . ���?�r�� 

�� �!�IOs d	;�� � ,�> �!*�L 1 .:���T�� O�!&�� r�> d�?�= 9�*;& '�? BPg�g�����T�� P OBCD� CODF  6TK�� �
3� B��T�� y�g�� '�? r��� d�?�= 9�*;� � ONBC� @	;�� GH �� |&-&�� �� _T� s a� �*�-��: A (αC) F���� GH� 

 �� ����(λC) �!X-? v*�&�� _T� :����&�� ��
����:  
)](/)([)](/)([ 11

cCC SinSinCosFOCetiCosTanTanFOD αθ=∠=λθ−=∠−=α −−
 

 ��A! Q9��� R7 );�+I	
 @$GSO "9;+� 
 E����
 ��!
, 4
)S+#��(el) @$ "T7 °5 �$ �U! K

 V�;�EG �9�T km 41 124,624 . R7 @�W!
 ,!��+�el′ �9���
 °5 R7 FP KE'G %);+� 

X���
 
YU Z�<�� . 6Y�
 [
2�
 "N9+� \�+���!
� R��E ]�^�_ "��`
�� ����T " OP ��I����G � 

35 786 km ≤ EG < 41 124,624 km.  

  

 

E OP ��I���� ��`
�� ����T s @��! E' ����= 
 @*s.�(
 ��#
��  .!)^��  E0 >����
 �

 R��� 6Y�
s E����
 ��!
, )�* ]��P ��I���� 
 �U�)T0�^��  . a�N	
 R��� KJ @$!OsE0 
 bbc�N�N$Qd�T\�+���! K��!
e�
 :  

sE0 = [(Os)2 − (6 378)2]0,5 . OP c
���+#
!
 R��� 6Y�
 [
2�
 "N9+� Kf�gE ]�^�_ 

 OP ��I���� ��`
�� ����Ts�   
sE < [(Os)2 − (6 378)2]0,5. 
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����� ����	� �
���
�� ��
������"�
���� " ������HEO 

 �����BOD ����� 
�	 ����� �� (i) 

U =  ����� ����  
= V����� ����   

OD ��� �	��
	 UOV 

w� Y:�	 ������ !� �"�#$ �
�#% �&
'�(
)*� !�  

�+����, ���	 

GSO


�� -. �"�#$ ��#%/(
0�1� 2�) �	 �����  

A:3�1�  

BA:3�1� 4�5$��  

S : 6(#�� �����"!�89��"

P :;�<>�

LP :;�<>� 4�5$��
'�(
)*� !�

"�2�
4

�� ���� ������� �!��# �$% ���! &		HEO ����� ����' ��( "�
���� "
�$	��� �)'�� �
*+, �-. /GSO)  1�2 �,(sE 

�?����� 6�(@A
��BC�� 

�+����, ���	

'�(
)*� !�

1703-04 

 
C8�� �D%�3 E, �B�9��� C� F� N� O� s.  

G :0�1� E, �B�9��� �#
�	 
$�)  
E : G	 H����, 
B#
�$ ��I�A ��JG 

"�2�
3

 
C8�� �D%�1 E, �B�9��� A� B� C� L� O� P� s� θ.
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 �����3: ��� ��-�� @	;�� GH� F���� GH ���>� �� ��: s 6H��&�� �?�*� ����W N��L _T� �(φ) B� �-? 9:�;�� 
 ��[4� �;\(E) 6!�� D% F4#� a� �*�-��: �I&�% 6��A (G) . 6TK�� @�!�&A�: j�5�4 Bq�� 9:�;&� ��I-�� ��Y C� O 

�F� N� s 6TK�� � d
	>	�� ��I-�� D% 3 . F���� GH ��Y j�q��E 6TK�� � 4 	2 �λE  GH a� �*�-��: ��	^ GH� �
 @	;��A 	2 αG @	;�� GH� G @	;�� GH a� �*�-��: A 	2 αG . �� �x ���&��:�αC� αE� λC� λE� αG� OE)  h��

F4#� �;= (�OG)  �;= h��GSO (� Os �����L 9*A �� �Y���%  
�   @	;�� N��L _T�sE d�?�= 9�*;&:  B��T�� y�g�� '�? B��T�� O�!&�� r�>ONCE r�> d�?�= 9�*;� � �

�� O�!&��	&�B '�? �� y�g��	&�B OsEM  
�   @	;�� N��L _T�sG B��T�� y�g�� '�? B��T�� O�!&�� r�> d�?�= 9�*;&: OCFJ r�> d�?�= � ��� O�!&

��	&�B '�? �� y�g��	&�B OsGM  
�   @	;�� N��L _T�EG 9�*;&:  B��T�� y�g�� '�? B��T�� O�!&�� r�> d�?�=OEJK r�> d�?�= � ��� O�!&

��	&�B '�? �� y�g��	&�B OEGM  

Z�vH�� � ���	&��� y�gB EsG �w�g�� r��	�� �� �x �sE� sG�  EG ����z�� N��L _T� �}*�nL �= φ d�?�= @�!�&A�: 
 r�>��	&��� O�!&B.  

q2 O��u&A�: _T� ��qT2�E �I��;�� 6H��&�� �?�*� ����W N��L (φ) �;:�2 ��`� B� a� �*�-��: GSO)  a� �*�-��: B�
 P�% ���+> D=	% B� � �>	� ��[4� �;\6*I&��� 6��A _% ��4�/� GSO@	^ GH B� '�? ( 6�% ����W }��7 �5� �

 6����� 4��%HEOBz7��� ]�&H
�� ���oQ� p�e�4�� �8�#� p�e�4�� �z��� ���I�IQ� ��Y�&H
� ���� _%z�� ��  P:
a� ��	H
 �"Q� �>�� '�? 6����� 4��% �"Q <	I�� "G�K-�� " �-% �>��H ���%	��%.  

� V
#� �!�I�� '�? @	�R��φ ��*�7�&�� _% ��Y '�? 9*;n� G��: �	A�L |%���: �:�&7 _T� �αE �λE� αG : 6!�&�n�
 N��Q E��
� 
4�	�� ,��>3�φ�-��:  �!�I�� 4�&un� � ��e��	� 67 a� �*6=#� .Z��"�� a� �*�-��: 
� b�~ 
 6H��&�� �� a� 

 ��*�7�&��αE �λE� αG �X�Y �	T� U�� E a� �*�-��: ������ ��:�= G� s)  6TK�� �"��4( ��A�4
 r� _T�� Eq2 D�� 
 ��*�7�&��rA�-�� _!Y '�? 6!��� 6!K� �� G��*�� |%����� �q2  � �w�g�� ��v+&�� _% ��A�� ���Y N��Q� _% ��*&�n�

B� �X�Y �	T� U�� ��e��	&�� _% E _% ,�	A �F4#� �;A�	: �:	1\ G �� s _% �� G� s Z��% . � j�5 t�[	� 
���
	&��� y�g�� ��e;&I%B 6TK�� _% d5	H��� ��� 4.  
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 �����2  

 ���	
 ���
��� ������ ����� GSO  

 ���� ������ ����
 ���� �������HEO �!�" �
��� �#$ "&'(#��"  

 6TK�� _% P*&�4 6����� _? d4
���� 6H��&�� �**��� ��4�/3� �� HEO �-? s � a� �*�-��: �I&�% 6��A P: ��`	�� 
 �-? F4#�G �-? ��[4� �;\� E��/� G;u� ����� �e�� �? ��[4#� �;k� Eq2 6*I&�% a� 6H��  0S�	2 p�;k� .

 ����&�� ��
���� 0;���� d
��z�� d4��L � ,�[	o�� ��`	�GSO:  

dBTkGdETT ).(Log.10)()/..4(Log.20]100/)/[(Log.10 1 −φ+λπ−=∆  
y�L:  

  ∆T/T:  � d
��z�� ��`	�� ,�[	[ Z���%��	�% �*�� 6T/ � �X-?   
  E1:  �Y�g79Y��  d4�I�� e.i.r.p. ��%�Q� �>	!�� 6��A �;A�	: ��A��� HEO �(dB(W/Hz)  

  d:   6H��&�� v�% @	^sE �(m)  
  λ:   �>	�� @	^(m) = (0,3)/f y�L f  02 

��Q� �>	�� ��%�� 6����HEO �(GHz) 

  G(φ):   r�7
�@�*I&A�  0S�	k� �;#� 

�&�� �-? ��[4f 0��S��� 4	k� _? ]��.
� ����W� φ �(dBi)  
  T:   ��`	�� ,�[	[ d4��LGSO �(K)M  
  k:   B� ���%z&�	: �&:�w10Log(k) = −228,6 dB(W/Hz/K)  

� �	T� �� _T�T �;:��� ��`	�� ,�[	[ d4��L �%� GSO O�"-�� ,�[	[ d4��L �� GIY GSO �-? �;k� 6*I&�% 6H
 
Z��*� ���[4#� _? v*�&�� ��oe�� �I��;�� ∆T/T.  

 N��Q�G(φ)�Z��"��  9R��� �q2 � d
4�	�� ��1X-�� �� a� 6�&� P: 6H��&��: F4#� a� �*�-��: �I&�% v� O�"� 

(non-SGO) �F4#� a� �*�-��: �I&�% O�"�� Y ��`	&�� � �� '`	�� r�T�� ��;;� O��u&A� rA�-�� _!
ITU-R S.1428 _? ��� y�L �G(φ) �!�I��: D/λ� �D 0S�	�� �;= 02 )4�&%#�:(.  

  

 �����3  

 ����� 
 ��)���� �'*+#,�� �)�-.� �'�/�1  

�$& q�e-� �L��K�� �I��;�� 9R��� � 1 �����: @��> 6T/ � EXCEL |%���: '�? B	&~ �Visual Basic _T� Bq�� 
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��;�% 6H��� ���%W��� O�"-�� ����� ��!���� 02 HEO�2�	A ��
 :  
�   8�#� p�e�4�)km(M  
�   ��oQ� p�e�4�)km(M  
�   Bz7��� ]�&H
�)B�K? ,z>(M  
�   4���� 6�% ����W)��>4
(M  
�   d�L�� �!��%)�g7� �� ( ����: h���&� ����&�� b�g�� ��!���� P: _%"s) " ���c ��"e (" <	I��"��G�K-"B� M:  

�   P: 0[4#� z7��� ����Ws 8�#�� )��>4
(�  
�   P: @�I&��� 6����� �=�+&�� Bq�� _%z�� ��s 8�#�� )��?����:(1�  
�   p�e�4� ��s) km(.  

 a� �*�-��: �I:�;�� �!�I�� r�Rn� �� � 6!�&��� r�4 �5�∆T/T��4��[ ����&�� ��Y�[3� 6H��� ��!��% �	T� �:  
�  g7 �!�= �Y� 9Y�� d4�I��e.i.r.p. 6����� m	�I�� HEO (dB(W/Hz))M  

 ��`	�� ����&�� ��!�����GSO:  
�  0S�	�� �;=) 4�&%#�:( ��`	�� ��[4#� �;k� � GSOM  
�   ��`	�� ��[4#� �;k� � 0S�	�� @�*I&A� r�7 G;�GSO dBi)0��S��� 4	k� _? ]��.
� ����W 6:�I% � (M  
�  [	[ d4��L ��`	�� ,�GSO) K(M  
�   

�&��(GHz).  
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Z�=�;�� p�;I�� a� }%� = U�� ���;��� _% ITU-R .B�� ��!"�#� Eq2 t�[	� F�+:� ��[4#� j����� ���� P: ��4�I�� 

 _% @�T/#� � �� ��:�&�� 5 a� 7 @���� � �K? B
�Q� h��� 0;��� M1 
��?� � }�!�n&A� U�� 8�#� @	^ �	;H 
 _% @�T/#�5 a� 78�#� �	;H 
�� 
� MEq2 t�[	&�� F�+: 
� �2��I&�� ¡ U�� .  
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��¢ @��1  
1.   ����HEO 1 2 3 4 5 6 7 8 9 10 11 12 

2.  ������  
 ��	�(km) 

35 970 44 640.539 000 35 800 52 700 40 000 50 400 27 288.320 180 34 800 39 300 27 470 

3.  ������  
 
��
�(km) 

4 500 26 931.5500 35 800 18 900 31 600 21 200 517.4 20 180 20 600 1 075 310 

4.   ������
������ ������  0,59 0,21 0,74 0 0,4 0,1 0,347 0,66 0 0,55 0,72 0,67 

5.  ��� ����!  
 �����(°) 

50 42,5 63,43 63,4 60 40 63,4 63,435 63.4 45 63,4 45 

6.   ����!s�"#$��%   
 ��	� &'(°)  35 31 (29,5) 60 (30) 37 (24) 40 (30) (32.3) 25 (28) 

7.   (�)*�s �"#$��% 
 ��	� &'(h)  (3,13−)(3−) 3,5− (4−)   4− (2,95−)3− (2,55−)1− 4− (3,06−)2− 

8.  �������s (km) (27 200)(42 800)(26 900)N/A (48 000)(39 000)(47 900)(16 500)N/A (30 850)(30 700)(21 400)

9.  �+�"��� ����!  
 ,-	�(°)  39,85 35,84 52,50 26,94 49,35 31,34 55,49 40,05 51,84 37,63 55,51 37,98 

10.  /��0�1�% 234���
 5���6�(°) 

(39,78)(35,78)(52,50)(26,86)(49,25)(31,40)(55,47)(40,91)(51,86)(37,47)(55,49)(37,26)

11.  ��	� /*7 8�
(°E) 

150− 108− 62− 43− 130− 38− 110− 83− 30− 18− 27 57 

12.  �96� /*7 8�
 ��:�	�(°E) 

97,63− 110,81−14,89 17,33 43,32− 38,65 34,89− 75,38− 35,33− 76,7 101,86 82,72 

13.  �96� ;�+ 8�
 ��:�	�(°N) 

73,63 46,70− 2,58 7,73− 3,15− 5,44− 2,01− 73,63 73,63 0,86− 1,43 73,63 

14.  ���#�� /*7 8�
GSO (°E) 

130,29−102,22−61,32− 58,88− 119,52−37,55− 111,09−108,04−67,99− 0,50 25,66 50,06 

15. /�<�  
∆T/T (%) (1) 

0,204 0,072 0,150 0,200 0,058 0,108 0,058 0,572 0,386 0,128 0,122 0,312 

(1)  24��� &' -�$�1��% �%*#= >�)2 &' �"#$��% E1 = −21 dB(W/Hz)� D = 3 m� T = 100 K� f = 11 GHz� G(φ)  ��?*��� @�ITU-R S.1428-1   

N/A :�B*�� CD.  
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PY	I�% P: �>	� 
 U�� p�;I�� a� }%� = U�� $�I�� ITU-RPY	I�% P: d
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 ��:	A�L d�7�\� _% O�"� 6T� ��!"�#h=	: j�5�PY	I�% P: �>	� 
 U�� �!�I�� �-? 6�+K&�� � �1�� P&!�I�� 6
PY	I�% P: P�
	>	�� .Z�=�;�� DA�&�� h��� � d
4�	�� $�I�� '�? @	�Q� ¡ �=� 9R��� _% 3 
 U�� $�I�� @�!�&A�: 

� ����: ���R&� PY	I�% P: �>	� <	I�"G�K-��) ." 9R��� � PY	I�% P: d
4�	�� $�I�� }�!�&A� �%�-?3 |S�&-�� }��7 �
}��>� U�� ��:��Q� �=�: �£ 
 }��7 ��Y�&H
� Eq2 �� 
� �,0K�� ��: �e�&� (. �? �1�&� 67 _% 9IR&�� B�>� �

� �?�*� ����W '�? ��&��: @	�Q� ¡� �N	A�Q� �;A�	: d�7�k�V
�/���� h��� � 6S�% G� 
��  � �!7 $�I�� Eq2�
¥L���9e&� DA�&�� h��� � d
4�	�� $�I�� D% �I�w� �e�: � 9R��� �R` ��&��: �7C�� 3.  

Z�
�-&A� @	�Q� ¡ �j�5 a� �Y�[3�:��K? B
�Q� h��� �X��? B	&~ U�� 8�#� @	^ �	;H a�  9R��� O��u&A�:� �3� 
�	T&� �*�7�� '�? _%  D=�	% ��[4#� �;k�� 6�����GSO b�� �2�-? V
� ]��.� ����W 84�H 67 � 0��S��� 4	k� 

e��� � |S�&-�� Eq2 
��� ����L]	@���� �q2 _% �K? D:����� �K? y��g��� �K? ��g�� .  
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Z�vH�� 9R��� F��� �3 _% 9IR&�� ���A�  �R`d�Ie�� ج ( _%�������� � 	
� �
@�g!7 �qH � U�� �
�Q� �  . �=�
 �!"�#� a� �*�-��: j�5 b�L1� 4� 8 �]���!"�#� p�	�� �Y�7 ��;+� � 0��S��� 4	k� 84�H ������ ����z�� N��� ) ��

V
#� �?�*&�� ����W ( $�= a� �*�-��:� Z���4�� �=�-&���: ��z7��� ����z� F4#� a� �*�-(θ) 6��A P: HEO8�#��  .
 6TK�� B	&~�8|S�&-�� Eq� ���: ��	�� '�? .  
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 6TK�� P*�8 �!"�#�: 9��&� �!�Y �¦	[	: HEOZ����: 6����� �	T� �% 4�I: ��� ���;!-��  E4��% 8�� _? ����W 6I� 
]��.
������� 0��S��� 4	k� _?  U��Z�:�= �X�Y �	T�  a� �*�-��: d�I&��� 6��	��� 6+K� U�� ��[4#� ��;k� _% ������ 

F4#�.  
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